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a=[1 -exp(-0.05)]

b=[1 0]

sys=tf(b,a,0.05)

step(sys,0:0.05:10) ; Sprungantwort

Step Response
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Bodediagramm

dbode(b,a,0.05)
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Bilineare Transformation

Mit s =

1 z-1. 1

N +V

in H(s) =
tan(#fg/ fs) z+1 1+sRC

a=[0.025 0.025]
b=[1.025 (-1+0.025)]
sy=tf(a,b,0.05)
step(sy,0:0.05:10)

Sprungfunktion:

Step Response

Amplitude

Bodediagramm:
dbode(a,b,0.05)

Bode Diagram
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Kontinuierliches Modell:

Sprungantwort:

a=[1]
b=[1 1]

sy=tf(a,b)
step(sy,0:0.05:10)

z(v+1)+v-1

, v=tan(0.05/2)=0.025



Step Response

Amplitude

Bodediagramm:

a=[1]
b=[11]
bode(a,b)

Bode Diagram
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